
INSTRUCTION MANUAL

Shiva 255cm x 255cm Corner Sofa Set, White Acacia with Stone Grey cushions





1



COMPONENTS

Please check you have all the panels listed below :

12

2

4

77

99

8

6
6

5
2

2

3

10

2

10



1
x1

2
x8

3
x1

4
x1

5

x1

6
x2 7 x2

8
x1

9 x2
10

x6

A
x20

B
x32

C
x52

D

x2

  Allen Key K4

 Allen Bolt M6*35  Allen Bolt M6*15

  Washer M6*16*1.0

COMPONENTS

Please check you have all the panels listed below :

3



100%

!

1

2

B x8

M6 x15

C x8

2

1

C

B

4

COMPONENTS

Please check you have all the panels listed below :

M6 x16x1.0



80%

!

100% 80%

3

4

6

6

3

C

A

A x4

M6 x35

C
x4

3

80%

!

100% 80%

A x4

M6 x35

C
x4

C

A

5

COMPONENTS

Please check you have all the panels listed below :

M6 x16x1.0

M6 x16x1.0



5

6

2

3

100%

!

B x8

M6 x15

C
x8

C

B

7

4

80%

!

100% 80%

A x6

M6 x35

C
x6

C

A

COMPONENTS

Please check you have all the panels listed below :

6

M6 x16x1.0

M6 x16x1.0



7

8

100%

!

B x8

M6 x15

C x8

C

A

C

B

4

2

2

5

7

80%

!

100% 80%

A x6

M6 x35

C x6

7

COMPONENTS

Please check you have all the panels listed below :

M6 x16x1.0

M6 x16x1.0



10

9

100%

!

B x8

M6 x15

C x8

5

2

2

8

COMPONENTS

Please check you have all the panels listed below :

C

B
M6 x16x1.0

Admin
Line

Admin
Line

Admin
Line

Admin
Line



11

99

8

10

12

COMPONENTS

Please check you have all the panels listed below :

999

10



19

 Finish

Congratulations! Now you have finished assembling the product.

10

COMPONENTS

Please check you have all the panels listed below :



11


	1
	Sheets and Views
	Layout2


	2
	Sheets and Views
	Layout2


	3
	Sheets and Views
	Layout2


	4
	Sheets and Views
	Layout2


	5
	Sheets and Views
	Layout2


	6
	Sheets and Views
	Layout2


	7
	Sheets and Views
	Layout2


	8
	Sheets and Views
	Layout2


	9
	Sheets and Views
	Layout2


	10
	Sheets and Views
	Layout2


	25.pdf
	Sheets and Views
	Layout2


	26.pdf
	Sheets and Views
	Layout2


	27.pdf
	Sheets and Views
	Layout2





